2 REEPEMEROEERZENS (FERBIHERE)

VI £ERXFEOH - 125 -

(¥ %)
. FERE234E
I\ N2
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=L &M =] &M &M EM %

=¥ E o % 4,717 4, 540 4, 658 4,379 4,423 4, 548 100.0
B it & 3,771 3, 597 3, 691 3, 455 3, 492 3,623 79.7
K 1, 287 1,234 1, 302 1,217 1, 090 1,278 28.1
# $H 30 14 16 15 11 5 0.1
M % 1 1 1 1 2 1 0.0
o $H 64 45 63 52 42 42 0.9
Y £ ¥A 37 32 33 34 32 34 0.7
52 2 1,122 1,121 1,116 1,130 1,188 1,150 25.3
B = 866 797 830 690 813 805 17.7
it X 221 214 195 186 193 184 4.0
T E 2 1 W 74 75 74 68 63 70 1.5
O M E W 69 63 60 60 57 56 1.2
& PE &t 882 878 901 865 878 864 19.0
Al Jik| 2 209 210 216 202 197 188 4.1
2 H 4 260 260 248 256 246 227 5.0

5 b A H 235 236 228 236 227 209 4.6

K 50 45 47 37 42 43 0.9
pr=) 356 357 383 364 385 397 8.7

5 b B 218 227 248 235 250 259 5.7

T O EF E W 7 6 6 6 8 10 0.2
mo I B E 0w 64 66 67 59 54 61 1.3
£ OB ¥ T 5 1, 590 1, 506 1,523 1, 330 1, 468 1,500 -
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=¥ E W & 638 586 616 581 532 589 100.0
Eeis Fi H 520 474 501 470 424 483 82.0
P 373 346 364 339 295 363 61.6
* *H 23 10 11 11 8 3 0.5
e * 0 0 0 0 1 0 0.0
o $H 20 10 15 13 11 8 1.4
7 H FH 4 3 3 3 3 3 0.5
iiiz 3% 73 77 81 77 7 76 12.9
P = 6 6 6 7 8 8 1.4
1t x 11 10 10 10 12 12 2.0
r = 2 fE W 9 9 9 8 8 8 1.4
O M O E W 1 1 1 1 1 1 0.2
& P 3 114 109 112 108 105 104 17.17
Al A e 54 54 56 55 50 50 8.5
) A He 30 29 28 28 28 26 4.4
9 b A& H 28 27 26 27 27 24 4.1

B 8 7 7 5 6 6 1.0
% 22 20 21 20 21 22 3.7
5 b O 17 16 17 17 19 19 3.2
O M F OE W 0 0 0 0 0 0 0.0
moo T B E W 3 4 3 3 3 3 0.5
£ OE OB E P & 158 138 176 164 197 254 -
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=¥ E W & 710 703 705 681 669 699 100.0
Eeis Fi H 552 543 544 519 514 533 76.3
/S 191 188 198 178 174 189 27.0
* *H 0 0 0 0 0 0 0.0
M = 0 0 0 0 0 0 0.0
o $H 10 8 11 9 7 6 0.9
W H FH 9 7 7 7 6 7 1.0
iiiz 3 248 252 243 241 250 248 35.5
P = 19 19 16 16 16 15 2.1
1t x 17 13 12 11 12 12 1.7
r = 2 fE W 46 47 46 47 41 47 6.7
O M E W 11 9 9 10 9 8 1.1
& P 3 123 125 128 127 123 131 18.7
Al A e 16 16 16 15 14 15 2.1
) A He 38 40 39 41 39 37 5.3
9 b A& H 35 37 37 39 37 35 50
B 12 10 10 11 11 11 1.6
% 55 57 61 59 58 67 9.6
5 b O 40 42 45 43 41 49 1.0
E O F OE W 2 2 2 2 1 1 0.1
moo L B E W 35 36 33 34 31 35 50
£ OE OB E P & 254 239 213 204 220 242 -
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=¥ E W % 336 326 329 319 328 311 100.0
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k% 72 70 72 74 70 76 22.3
#* ] - - - X 0 0 0.0
HE 54 - - - - 0 0 0.0
=2 ¥H 0 0 0 0 0 0 0.0
W 3 ¥H 7 5 6 5 5 1.8
iz 2 139 142 143 138 148 158 46.3
PS = 61 54 56 54 59 58 17.0
1t X 25 23 22 19 19 18 53
T = 2 1 W - - - - 0 0.0
T o M E W 4 4 4 4 4 3 0.9
& B &t 28 27 26 25 23 22 6.5
Al Jis| #H 1 1 1 1 1 1 0.3
% JiE| 2 17 17 16 16 15 14 4.1
9 b A H 15 15 15 15 14 13 3.8

liZ3 6 5 5 4 3 4 1.2
P 3 3 3 0.9
5 b FHOF 3 3 3 0.9

T O F E W 0 0 0 0 0 0 0.0
mo I B E 0w 0 0 0 0 0 0 0.0
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= ¥ B W % 1, 462 1,431 1,478 1, 459 1, 445 1, 461 100.0
B il & 979 944 976 975 939 970 66. 4
K 458 440 468 436 382 450 30.8

#* 36 6 3 4 3 2 1 0.1

M % 1 1 1 1 1 0 0.0

=) ¥H 33 26 36 29 24 26 1.8

Y £ ¥A 10 10 9 11 9 8 0.5

iz 2 370 363 364 403 432 396 27.1

PS 2= 30 31 29 29 28 30 2.1

1t X 59 59 55 53 53 51 3.5

T = 2 1 W 1 1 2 2 2 1 0.1

T o M E W 10 9 9 8 8 6 0.4

& PE 3t 483 486 501 483 504 490 33.5
Al H 2 121 124 124 113 114 106 7.3

) Jis| 24 136 136 128 132 126 115 7.9

9 b A H 121 122 117 120 114 104 7.1

K 16 14 15 11 16 16 1.1

P 210 212 233 226 246 250 17.1

5 b g 118 128 146 143 156 159 10.9

T O F E W 0 0 - 0 2 2 0.1
mo I B E 0w 1 1 1 1 1 1 0.1
£ OB ¥ T 5 393 401 457 449 517 463 -
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=¥ W % 476 468 451 413 424 444 100.0
B it & 390 383 370 341 355 376 84.7
k% 115 110 116 108 93 115 25.9
#* $H 0 0 0 0 0 0 0.0
HE 54 0 0 0 0 0 0 0.0
=2 ¥H 1 1 1 1 1 1 0.2
W 3 ¥H 5 4 4 5 5 6 1.4
iz 2 129 126 118 110 117 112 25.2
PS = 74 77 71 65 87 90 20.3
1t X 47 45 41 39 39 38 8.6
T = 2 1 W 13 13 12 8 10 2.3
T o M E W 7 6 6 5 4 4 0.9
& B &t 75 74 70 64 61 59 13.3
Al Jis| H#H 9 10 10 12 10 9 2.0
) JiE| 2 34 33 31 32 30 29 6.5
59 b A H 32 31 29 30 29 28 6.3
J& 6 7 7 4 4 4 0.9
5 24 22 20 16 16 15 3.4
5 b g 22 20 18 13 13 13 2.9
T O EF E W 1 1 1 1 1 2 0.5
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= ¥ B W % 1, 095 1,026 1,079 927 1, 025 1,013 100.0

B il &t 1,023 955 997 857 954 942 93.0

>k 80 80 83 82 78 85 8.4

#* $H - 0 0 0 0 0 0.0

HE 54 - - - - 0 0 0.0

=2 ¥H 0 0 0 0 0 0 0.0

W 3 ¥A 3 3 3 3 3 0.3

iz 2 162 161 168 161 165 160 15.8

= e 675 610 651 520 613 604 59.6

1t X 62 62 54 54 58 53 5.2

T E 2 1 W 5 5 4 4 4 4 0.4

T o M E W 36 34 33 33 32 33 3.3

& B &t 58 57 64 58 62 59 58

Al JiE| #H 8 5 9 7 8 0.6

7 JiE| #H 4 5 5 6 7 0.6

5 b A H 4 4 5 5 6 0.6

23 2 1 2 2 2 2 0.2

P 41 42 44 40 41 40 3.9

5 b g 16 18 19 16 18 17 1.7

T O EF E W 3 3 3 3 4 4 0.4

mo I B E 0w 14 14 18 12 10 12 1.2

£ OB ¥ T 5 479 430 417 282 303 280 -
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